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4

(eet)= et () ez o2 s (3

— 4 2 2 4 —~T T N
= «' — T 3 1k -
%{X’JFM",)GJFAF%"( ig)* F Co&Eﬁcu.migfmmv

29 16 PoSml‘S‘U’thu‘gU
= ?(? f(g'?iz + :24' — F‘!" F /)

i You on't femomber the corffitunds, Yotk Coun Ws
wrie tham ag (i), @L) ebe. than use (i): s

Question 2

(a) Jf”(fx,) = exp (smdn) f}f,z(sm&%)
= op (swadx) . cogdx.Q ugug the chaun s, 0gain
= QQXP(SM%) oS -

) Toking ln on both sides:

(x241)
Lny = Wt
= (a2 1) nd ®  (4"4)
= 22 g+ nd = 1"+ (nk4
= Kt + (nf
:DL‘{FEMW wibn hquq_d;ﬁ) x .
famander s
C%(an)c%\;% = Qx.nt JUS{Z o bomh@
R 1Y R P
y % .
(I% = yQ%UA

= 4lert) g, 14

Page 1



Advanced Higher Mathematics Exam Solutions — 2007

Question 3

3
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2 3
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Question 4
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Equamg COQH:(CM- -

“A=-C ©® A=-1
“1-R+UAL=-9 © -W’+AL=-8 — @
1+ B +C =2 & B+ ¢ = 1 —©@

D+3x®) N5C= -5 & C=-1
Se B=2.

. QC-9a-6 1, 2 1
Ca@on-t) X a2 %3

Page 3



Advanced Higher Mathematics

6

e
X~ P- G 1
Jx(a&mwa)d% i J( EERS >d%
4

Exam Solutions — 2007

4

6
= [Ualxl + A |xt2| - m[%—z)I]

¢
= Wb+ 28 -3 - (Ln‘f Falnb —Mf)

= ~ b + WS- W3- g
4
bx3x4

= W e and ne9

Question 5
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Question 7
599 = 14.53 + 16

52 = 3. .46+ 5
16 = 3.5 + 1

So 1= 46-35
= 599-11.63 -3(53-3.4¢)
= 599 — 1453 +9 (599 - 14 .52)
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Question 8
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_
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Question 9
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Question 10
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Question 11
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Question 12
4
=1 (1+a) =d+a = 1+no. Sotw for n=1.
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Question 13
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Question 14
L5k — 4

dt L5
— |35 - o! 5 c

-J01
|26k -G | = /a5
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- oe
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=0132 (b 3dp)
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Question 15

@ We want T show e are nosowdions of the systum:

@A L1+s =1-2
@ -s =t

@ 21-< = g+3t

Mebhod 1

S+ 2 =-1

s+t =6

S + 3 = O
. 1 2 -1 142 | -1 1 2 |-1
Wtk Tuse as® 12 4| o0 — © -1 | 4 —> 0o 4|1
1 31 0 o 1) 1 o o] 2

Thare are ro sobuions of the systum because fow 3 meonsistent
M):tbl.()di USU/E% @, @”—3’ :).+g:i|.+'25 LQ S:i
@=> 2-5=2-35 e 5=0.

Trase caunst bothe be the cose, so Hure are no solud ons
o the systum.
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Lo Ly has paramabing equations =1+, y=L1ru, z=3tw
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1+2uw = -1-2¢ wu+t = -1 — @
© Solve 4+ uw = ¢ S{wn-t = -1 _ @
A+t w = L+ 3 w -3 = -1 -—@

1 1 |-1 4 1 ]-1

Methedl 1 -2 (-1 — 0 -2 | O

1 -3 -1 O -¢| ©

S

Mithd 2 D+@° 2u=-26 w--1 So t=0
Thase vaduss also satisfy @

bl £=0, w=-1 wto k, (or LS), J-Q(—LO,Z)

1=2+5
Pt (%JUE):(L.’L,B) wmbo [y —; S}@ s=-1.

1
Honw PLLLSOVLLi_ ’

no ]

(d) P@r\l(1+1)"+f+lz =Jb  wuks
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Question 16

~N N
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